A ij“ ’L@xﬂ }.4—(\3 =0
buess y=x
T ' rxf*"'{ w2
ﬂ”ﬁ (-Dx"
Axbjkl”r Bﬁj{rcj :@dm) Fer e C >Xr£0
Ar—Aror +C~0
Ara (BAI O =
e Y " Ixy "‘“73 L= W:@fﬂ‘q

A=1 6;7 c=—1{ m‘ﬁ/XY’"‘* ))":’”O P Nl s
87 Eal o g

-7
Y= K rC X

NIICIAT
POLYR My AL

Ru7 AT IF

el
i zarby

7 o S

AND



(.

w() —> r(F’A (QL ""'(
5y e

WH-ene )} 4&@)

W@C@WE@U’S

A=+ (B-#)+ CO

Lod (4~ dy. L
- 'a%‘(%,d L
- -—i»--ﬁﬂts‘?'s‘zﬁ"iﬁ ?



IF THE IWOICI L POLYNOMI A ps

D 2 eam-poots (r,,) y= aﬂé%@k@ﬁt

7 Y = @aé@%‘)ﬂ ro (D)™
Y= x"rext
o ot (6,r7) Y2 ceticte”
Y= ¢, e e b’

&;‘ C % X b e

Vi bt +C,e%cos b
ys: -pxﬂ-sm (,Mmg}}@} XaCDSU:;fnx)




2860

SOLVE th +5‘Yﬂ *4& =0 wm**\i’ *4(*4’ _____ 1

A<\ 35, &4 = L
axaex]

b C«n ><’ érh {Q nk} v A
L *Cm"?{’a Cbg él mx\} |



49 ON-HOMOEENEOUS LDE
R RS
CL?’T_ L[Klj]:j"*'f)j‘k%j > VATLisRLE
Tﬂﬂi |7 \%ﬁ 1S A SOLN OF j"*ﬂj' k%j:-o

Ao :j‘o IS A PHETICU AL

VA vis Vo]
TweN ﬁ j‘" 1S MSDF\&DL'Aorﬁ }m ’rw j
PROOF - L_);%] O pw LLy -
So L[ﬂhj] L).’ﬂ,,]a-uj] @*ﬁ =g
S0 ﬂ*ﬁf’ (< A/SDLA}orﬂ}ﬂjJ—iﬁ ﬁ




F Yp, w0 Yp Are BoTH SoLWS OF ljj "PY* %973
Liﬁpﬁ %”] Liﬂﬂ#—@—}ﬁ]
] L[jﬁl (’)L[ﬂf;ﬂ
j + (
© jf ' j ¢ 1° & ﬁ%l;% W@MDW{I

. o 1T ﬁ h )

e, 55 j% L ﬁr \ N/ SoL N} OF Tie INOW— H’O M % WS (. OV
@%’ WW@J AL MS A soL'p 3 TIHE




SO
uwe
2z
b2 = %
@2,%

0
- SOUVE Q
%EF
2 AR
Y“J—‘ﬁgg

W’
etk TH
ARy
A SO MS
N

=2+
23 ”

y
Ut Yo

Hgg C, N
__ | L Shn é@
(80
+(, DS ,%,;)
* e/zx



